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ECO-6 : ECONOMIC THEORY 
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Weightage : 70 % 

Note : The paper contains three sections A, B and C. 

Instructions are given in each section along with marks. 

SECTION-A 

Answer any two questions from this section : 2x12=24 

1. 
What are the various forms of economic system ? 
Describe the features of a mixed economy. 

2. 
Explain the concept of consumer's surplus with 
the help of a diagram. What are its limitations ? 

3. 
Describe the law of variable proportions. Point 
out the areas in which the law of diminishing 

marginal returns is applicable. 

4. 
Explain the marginal and average revenues of a 
firm in both perfect and imperfect competition. 
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SECTION-B 
Answer any tzvo questions from this section : 

5• 	
Explain the case for and against monopoly. 

6• 	
What are the assumptions of indifference curve 
approach ? 

7. 	
What are the two alternative approaches to 
distribution of income ? Which one do you prefer-
personal or functional ? Give reasons. 

8• 	
What are profits ? Describe sources of profits. 

2x8=16 
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SECTION-C 

9. 	Attempt any two of the following : 	2x5=10 

(a) Technique of Lorenz Curve for measuring 
income inequality 

(b) Concept of quasi-rent 

(c) Distinguish between nominal and real rates 
of interest 

(d) Types of economies of scale 
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